[ Efficiency vs vertpos |
- 05

20.45

g
2 04

R LR AR AR LR R LA REALE RARR LARLE RRRLN LRR)

- -+ * |-
L + 1] 4T o
o +

0.95 :
1072 10 1

10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05
.0

ettici

Ratio

[y

9830 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>

Q. 0.45
IS

5 04
£0.35

&
c 0.3
)
Q

D
TT T T TTTT

=
T
i
+

0521510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


